Ox-12y=24

16. 4x+2y>8

19. x<4

¢.-lx
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5

i8. 6x+3y <0

v
%

Graph each inequality.
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17. 4y >10x-20,
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#14 HW Writing Paraliel & Perpendicular Linear Equations

Aigebra II

Name KM‘

Write the equation for each line in point slope form. (%'Urw VY\ (}(—-

N

1. line through (-5,7) and (3,-4)

2. line fhr'ough (-4 7) and (-4,5)

3. line Thr‘ough

cf. Each week Michelle record the

—L\.;-T 3 _ 5- 5 =1 x | 0 | 30 |100
= 35— ¢ = -q l-r' (@) y | 32 | 86 |212
» 5
-1= %L(p,s) 5 No 3lepe Yoo %\3_ :
2 - - e
vz = (¢-3) X=-Y4 ) 322 Z(x-0)
) r .- Ble = 3 (x-20) o
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4 ) 5. x2= dD2) 6! | 3
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average length of her standing
long jump. Write an equation for
the length of the long jump as a
function of her number of weeks
practicing.

~ Michelle's Long Jump
Week (w) Jump (cm)

1 175

2 178

3 181

4 f 181

B) If shei

roves at 'rhe same

rate what will her jump length be
by the 8™ week?

Write the equation for each line in

point slope form.

8. line parallel to y =3x+4
—
through (09)and \\= 3

-1 3(x-b)

9. line through (0,-4_) and

perpendicular to y = -3— x+4
=

=54 m=

%_-‘r Ll-=- ‘?" (X'D)

g
s

through (6,-

10. perpendicular to y =3x

ne=
M

2).

3
!
J

b= "3 ( (x-t)

Determine whether each pair of lines is parallel, perpendicular or neither, and Why or Why not.

¢



